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S 11,

~ correct. Correct answer will carry full marks 1. In case of 1ncorrect answer or any' |

- the OMR. Also ﬁll approprlate bubbles _ . |
- Write yourname (m block ]etter) name of the exammanon centre and put your full srgnature' 1

in appropriate boxes i m the OMR.

‘ quesnon booklet numberfroll number or if there is any drscrepancy m the name/ srgnature of '
7 the cand1date ‘name of the exarmnatron centre The OMR may also- become mvahd due to 1
folding or putting stray marks on it or any damage to it. The consequence of such 1
"rnvahdatlon due to 1ncorrect marking or careless handhng by the candrdate will be sole. |

| _responsrblhty of candrdate - ‘
‘Candidates are not allowed to carry any written or prmted materral calculator pen log-table 1

:Thrs paper contains questions in both English and Bengah Necessary care and precautron |

- between the two versions, the information provided in the: Enghsh version w1ll stand: and wrll"

Y
INSTRUCTIONS |

All questlons are of objectlve type havmg four answer opnons for each Only one epnon is

combmatron of more than one answer, % mark will be deducted ‘
Questlons must be answered on OMR sheet by darkemng the appropnate bubble marked A
B, C, or D.

respectrve bubbles _ _ ;
Mark answers only in'the space prov1ded Do not make any stray mark on the OMR
Write quest1on booklet number and your roll number carefully 1n the specrfied locatlons of 1

The. OMR is llable to become invalid if there is-any mrstake in fillmg the correct bubbles for " .,_'

wrlstwatch any communlcatlon device like mobile phones ete inside the exammatlon hall ' "
Any candidate found with such items w111 be reported agamst and h1s/her candldature willbe |

summarily cancelled. : .
Rough work must be done on the question paper 1tself Addrtional b]ank pages are glven in |-
the question paper for rough-work. - : e : e

Hand over the OMR to the invi g1lator before leavmg the Exammat;on Hall;

were taken while frammg the Benga]l version. However, if any dlscrepancy(les) is /are found' " s

be treated as final.
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L Phylloclade is amorphologlcal change fbund”m; i ) ‘
.‘W(A) ﬁSundarl i - (B) Cactus. ' (C) Pea Plant (D) _ﬁaﬂhenium
ik iiﬂmdwmﬁﬂ@mﬂ@f‘“@mmm? SR

2. Wthh of the follovwdng 1samangrove ‘plant ? _ . . _
_- Ay Hygroplnla i (B) Salvia (cj:")lf" Waterchestaut (D) Avicennia
(A) MW(W) S ® W |
© BW(W> o wiofm

3. 'The percentage of tall “and” dwarf pea plants produced in Fl generatmn due to
-';"hybridlzatmn of two hybnd tall pea plant w111 be ‘ SR

(A) 50% and 25% (B) 25% and 25% (C) 75% and 25% (D) 50% and 50%

lq%w\asaamwﬁamummww awwwamwwmmm«
‘nﬁ‘am'ez@vrﬂm? oo | : ‘ i

o (A), 50% €A 25% © (B) 25% €k 25% '('Cj 7'5%’@'_3‘&“-‘2'5%'.(9) - 50% 99 50%.

- 4, Leaves of’ Opuntza get mod1ﬂed 1nto- ' _ 5 i
@ Spme LBy Prlckle o (C) Thorn (D) Phyllode
WWWW%WWf PR R
" (A) AGTDE (B) *MW?:S (© DT (D) AR

5. Sunken stomata 1s found in

(A) Sundati 5. - (B) Cactus o .(C) Lofus- (D) ~Ocimum
}'Wmmﬁmmmmm? o SR

W @ W (© I

ANM(R) &"CNM-zon (Shl-ft S z A R 40
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. Select which of the fo!iowmg Hemophlha disease is Imked to—; ? , st _
' .(A) Y-Linked (B) - ~Non genetic - © ;.:Autosomal : (D) "X—.Linkefd S |
- %mﬁs%mmﬂ%ﬁmwmﬁwmmﬁe e e Sy

@) Y- ﬁﬂw (B) mw‘fﬁ'@ (C) WC@TNFT‘- (D) x:Forme

f

_Whioh of the follo_Wing'media has ‘maximum refracti'velindex?' _ i

| (A) 'Aqueous'humor '-(B) Vitreous humor R(®) Len-sl'- i (D) . Cornea PRy
R T e v T ol 7 T e g
‘,(A) T R (®) Rl e © wm ™ A 0

Absorptlon of Water from chromosome takes place in which stage of ceIl d1v1510n‘7

‘(A) Telophase (B) Anaphase ey (C) Metaphase (D) Prophase

(A) CW“CW (B) W (C) mﬁ‘w (D)m

‘Which of the followmg isan oceupatxonal dlsease 7

‘_(A) Asbestos1s o (B) Hepamlg

o ©) Amoebic dysentery don ST ' (D-) .Ma_larta..-_ figis
' fﬁtﬁﬂtﬂfﬁfﬁ‘m’nﬁew? | i

.(A) 1k b ] N " (B) twﬁ‘rifﬁvr

"(c) \‘mﬁﬁﬁtﬁmﬁ‘ R (D) e

- 10.

‘Thebes1an Valve is present 1n the openlng of which blood: vessel ‘? :
: (A) Pulmonary artery R (B) Pulrnonary vein
| ._ (C) Coronary sinus g e S (D) Coronary artery

ﬁ@ﬁmwﬁwmmﬁawmmﬁm- |

@A) wﬁ’mwﬁr B Wﬁﬂﬁm

ANM(R)&GNM—2021 (Sh:ft-Z) . R P TR LR IR T M AR

© wEEREEE (@) SEERed
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ANM(R) & GNM-2021

11. Reserve pacemakef is - .

(A) SANode (B) AVNode
(A) SATI® = (B) AVTS

12. Function of Buffer is - .

(A) Decrease pH -Le_v'e'l‘ ®B)
(C) Inhibiting pH Change_s_.- (D) .
(A) pH & 3@ ST ®)
(C) pH RS 4 TRe (D)
13, | “Todine makes starch turn to
(A) - Blue black (B) Red . ©
mmmmﬁt‘fﬂﬁﬁﬁﬁﬂ? o
(C)-“

@) ﬁmwm ® A

©

Bundle of His (D) Purkinje fibres

© Fomafm () Ry

Ihcréase__'pH Level

Notrelated to pH

pH @3 IR TAF S © w Y

Green | }(D) “Colourless

o © <@

14.  Ureais a waste produced in the process of the breaking down of

(A) Proteins (B) Carbohydrates _
W%ﬁﬁmﬂ@mwaﬁwi‘mﬁwﬁﬁ?

(A) s ®) "TWT

©

©

Fats (D) Sugars

v:ﬁnﬁ o . ._'(D)_' Tﬁﬁr

15. The mode of reproductlon in- which an 1nd1v1dua1 produces offsprmg w1thout the help of

another individual is called -
(A) asexual reproduction

© spoi'e formation

(B)

fert1hsat10n .

,,,,,

.....

T o Waﬁmﬁa wmwmwwﬁzaﬁw MI?

'(A) wﬂﬂw (B) ﬁca?ﬁ

(O

39 B A (D) WW

ANM(R) & GNM-2021 (Shift-2) - . 4" ‘.
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16,

7. .
(A) HClandH,SO,  (B) HNO,andH,S0,

18. .

19.

- 20.

ANM(R) & GNM-2021
Gamete produced from AaBB is- -

(A) Onetype: ' (B) Two types © ‘Three types'

AaBB tﬁﬁwwmﬂﬁwm? .

(&) ¥R ®. @“w (C)ffﬂw

The main elements of a01d rain are.

© HClandHF = = . (D)  HNO; and HF

(D) - Four types S

©

(A) HClﬂ?T\HSO ERRRIS I (B):_HNO *-‘J?\HSO4 :

_Plrlfonms muscle he]ps in which of the mentloned method‘?

JFM i)rojec't started at first in - | i
(A West Bengéi; '.(B) lK.eraIa ; (Cj_' Nagalan 0
- .JFMWWWWZTWE}FI@? - ot

@ @) @ - © awan@

Whlch among the foIIowmg has 23 Chromosomes ?

.(A) Spermatogoma _ B - (B) Zygote

© HCIS®HF. S (D)--HNO W\HF

(A) Rotation ~ (B) Flexion (© Abductlon (D) AdductlOn 'l
| iilmw”ﬁi%ﬁvﬁﬁwﬁmtﬁww? ERE A A

@ W @) wE (C) W | (D)

(D) Jammu 0

o =

© Seondayoooye < D “Oogonia

@) Wﬂﬂ@mﬁm S ® o'
© CreReRs @) Sofm

ANM(R)&GNM—2021 (Shlft-Z) s
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ANM(R) & GNM-2021 |
21, Enzyme amylase belongs fo category - £ L
.- (A) Ox1doreductase (B) Transferase o (C)‘ Hydlro-lasos"- (D) ,Isorh’e_r"ﬁsé' |
'wﬁw@‘emwwmﬁ*mwwﬂm | e A

W w@wﬁmﬂw@ fsrmmw (O TEWEE (D) T

Zi. : Choose whlch of the followmg terms is apphcable for sw1m bladder in fish- '
(A) : Homologous_ organ o o (B) Analogous organ '
(C) Vestigial organ . - | . B (D) Hydrostauc organ .
ﬂm?ﬂqﬂ%‘ﬂ ﬁﬁaﬁwﬁwﬁﬂ%ﬁi@mﬂ%ﬂmw ?

(A masw‘ ®) w@ﬂw (©) ﬁ@?mw | _(D)‘  ntefoT o _'

23. 'Antlketogemc hormone is = ] _
F (-A). Adrenaline’ (B) Nor - adrenalme (C) Insuhn .‘..':(D) :"Glucago-n'
V'(A) Wﬂﬁﬂﬁﬂ ® ﬂawﬁﬂ%ﬂ © THFW () g

24.  Which of the following flower is insect pollinated? ‘

(A) Paddy = (B) Mango  (C) Hydrilla o -Brigo.nia.-
ﬁmmﬁmﬁ%‘rw? o | - |
@ &ﬂa (B) - (© RECE ‘(D) Rt
25 | ‘Prothrombm is known as o | L _
@ FaCtorI' | (B) Factor I.  (C) Factorll (D) Factor IV
'(A) L1k (B)ﬁ; _m@m e (©) Wmueu (DY WIV i
| ANM(R) s GNM-ZOZVI (Shift-2) S & e P e
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27

- 28, Ifa person goes around a square shaped park of 10 m SIdCS once in 16 seconds his

ANM(R)& GNM-2021
PHYSICAL SCIENCE (c@rt-s s b

!

Newton 1s a umt of

L .,-“(A) mass : (B) force o (© -,,:glje;yitafion B D) e’leotffo.curreﬁt
£ (A)w (B) @ () SR

©) o

What is measured-byaoommon-balance‘? _ NI _
(A) Mass  (B) Weight . (C) Force (D) Pressure

'rmmqm(wﬁs@)ma?rwrmf s R
W= @ 0w 0 Ff"f

average speed and total displacernent is .

(A) 16m/s,10m . (B) 2.5m/s,40m ©) 32m/s IOm(D) 25m/s Om

- @3 AR @3 10 mwﬁﬂ?aﬁmmw 16@@@@@?*{@@%%]
_.m%ewrﬁ‘wrm o - oL
- (A)- 1.6m/s, 10m  (B) : 255 nl/s, 40 ;jn :_(C)_ ‘3-52 .imfs,':l‘DEm‘f"(Dj'- 25 -I’ri/,S;"Q m

. Choose the r1ght answer

Under spemal c1rcumstances, a body’ s - |

,(A) mass and welght both can be zero.

(B) ‘mass can be zero, but welght cannot be zero

© mass cannot be zero, but weight can be zero

(D) neither mass nor weight can be zeto . -

k -wrsasemeﬁ{nmw

ﬁommmm@a A

o (A) 96 @W‘IW*ETWW W
(© me'mmﬁ@emwwﬁm |

D) .wmemmﬁiwmmm

ANM(R)&GNM-2021 (Sh:ft-—Z) R 7 T o, oeo s oA
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30.

31

._meﬂm 10 cmi@ﬁtﬂtﬂmtﬂalqmﬁfﬁa@ﬂwﬁa AT e T e 2

' (A) elastlclty ‘ e (B) surface tens10n

ANM(R) & GNM-2021

A 20 g bullet is fired from'a gun ‘The bullet hits.a sandbag with 100 /s speed and stops
after 10 cm into the sand. How much stopping' force was apphed by the sand P

(A) 1000N (B) "100N (C) 200N (D) 500 dyne -
mmmzog—@aﬂﬁqMﬁWﬁlw100nﬂs@tﬁuﬂ$fﬁ‘aﬁaw
(A) 1000N (B) 100N . (© 200N (D) 500 dyne

Small drops of dew are always sphencal in shape It is: due to 1ts |

(C) viscos'ity SRR - : (D) dens1ty
WWWWEW&WIWM?W‘I

e (A) fifwﬂvrwr o : © (B) "jé"ﬁl?{

' 32.

(A) isotopes _ | . (B) isobars -

33,

AT, K40 @ 50Ca- @3WWWW -
@) wEemwe : (B)Wﬁna

The three elements [gAr 40, K40 and ,,Ca%0 can be called -

(C) isotones : ' : (D) léogﬁéms My

© wETTeR (D)WW

If molecular densities of oxygen, hydrogen and sulphur are respecuvely 32, 2 and 32 then

: what is the molecular density of sulphuric ac1d ?

(A) 49 ® 98 L © 8 5 (DY 66

e, smmewmwﬁa@wﬂﬁuwmsz 2@32@6@%&5@% '
‘Wﬁm‘\ﬂmﬁrﬂ?@wwo . _ pir Co

-ANM(R)&GNM-2021 Guife2) 8

oo R e e

>

— -
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34,

ANM(R) & GNM 2021

In the followmg table select the correct: matching between the substancés named in ﬁrst

' 'column and the classification names given in the second celumn

| Substances | Classification | .

L Brine . |a. Mixture
|2 Smoke b
3. Butter = |c. Solutlon iR
| 4. Soil ©° " |d. Colloid ’
@A) 1c2d3b4a T (B) a2 3, 4-d

. Emulsmn ‘

(C) 1-d,2-c,3-a,4b D). 1-b,2-d,3-c, 42 .
f%ﬁmﬁt@ﬁwwmm@@%awﬁ@wwmmmﬁmmﬂ%ﬂmw'

ﬁ"f’l?ﬁﬂ

3s.

36.

 w® ol
| L e g

3. ki
(A) 1-c,2- d 3-b,4a S ® 1-"5?",2"'b§3-¢?4"d',._

- 9?‘

(<)

e

© 14243a4s D) 1b2d3c4a

Tfle acid which is m_"qjstlyépr_egcpt in acid rain_ is '. S R
(A) Niticacid . -~ (B) Hydrochloric acid

(© Sulphuric acid ‘ .(D)':_Citric acid
C @ araﬁaswﬁv SRl '_(B)" 'mmﬁarwﬁv
© ‘-’W’iﬁ%ﬁﬁ‘“@ﬂﬁw e | (D) m?@afwﬁw

_A water pump can ﬁll a 500-litre water tank kept at6m helght in 50 mlnutes What is the L

powerofthepump‘?(g*l() m/sz) _ o
A) 10Watt  (B) 0Wat (O 5 Watt (D) Iswatt

-anffﬁ'wmw soﬁrﬁtﬁéﬁﬁmwwwﬁ soo%ﬁmwmww—%?

TS A | ﬁtﬁvffr‘;aWW? (g= 10m/s2)

(A 10Watt (B) 30 Watt (C) 5Watt | (D)._;is’watt' |

ANM(R)&GNM—ZOZI(Shlft—Z) T TR TR L TR
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38.

ANM(R) & GNM-2021 .
1 800 calorie of heat is apphed to 10 g ef ice. at 0°C, -

* ‘,(A) about haIf the ice will melt

(B) entire ice will become water and then vaporlze KRSt oo

© 10 g of water at'10°C w1il remain -

D) 10 g water at 0°C will remain - '

0°C SIS 10 gWSOOWWﬁ scmew

(A) 2SS T A AR
B) mwwmwmm
L © 10°C‘§‘5TW10gW"fT\WTW

® o°C ervmrqm 10 g ot ﬁtemm

If a note contains four tones of frequenmes 256 400 512 and 630 Wthh one is .a
harmonic ? ' ' ' -

- (A) The tone of frequency 256 R | (B)l The. tone"df frequency 400.

: (C) The tone of frequency 512 o (D) The tone of frequency 630
aﬁmsﬁzse 400, 512e630¢=emm1%qaﬁrﬁwwwwwﬁ? o
(A) 256 F5EA =0 = (B) 400 F7AEa =0

(C) 512 e (D) 630amfmw‘ﬁ‘.

39.

40,

The eye.lens‘ of a human body is a _
‘(A)' ‘biconcave lens (B) -biconvex lens | (C) ' plane mirror _ (D) prlsm
Ay WW (B) @rremmr (©) e ws (‘D)‘ e

g Whlch of the followmg gases does not normally partchpate m any chenneal reactlon?
-: (A) I-Iydrogen | (B) Neon . (C) Carbon d10x1de D) Methane
ﬁwﬁﬂe meﬁammwmﬁww mmmﬁafﬁmmw&fammﬂr 2

(A) R ® = © wmee(mw

..... - -,

‘A.NM(R)'&'GNM—ZOZI-(Shift—Z)'_ T R S T e
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“ANM(R) & GNM-2021
ARITHMETIC (ﬂtﬁsfﬁe)

A solid sphere and a 01rcular cyhnder have same radlus and same volume What is the
ratio of the radlu 5 and the height of" the cylinder 2 ‘

(A . ® 34 (© 45‘ (D) 5:4

| eﬁﬁ@t%eaﬁmmmmaewmwmwme

%ssemx—sﬁenewm? '

. (A) A3 @) Biden --;_-(C)-_,_ 45 (D)" S

4,

‘When the price of eggs per dozen reduces by T 6, three more eggs are avaﬂable in ?‘ 30.
- What was the rate per dozen beforethe rate reduced i 1H

@ %0 . B R2U4© 60 (D) 748

' Wﬁ%WWWGWW%WW@WF@?@WﬂTW:WWﬁ Lq%r_

43

) (A,;--_..r_s,o J (B) 224 '_ (C)tso | ;(D) ?-4.8_ ; :

“Total surface area of a cube is S sq. umt and the length of its dragonal is D u.mt The

relatlon between S and D s s o .
(A) $=6D2 (B) 3S 7D ' (C).f‘-'S3‘.‘==D2 (-D) .:-D%: ; |

L aﬁwwawmwsaﬁdwewﬁmm st e D -uaavrwmf

44,

W s-a2 ~<B>.._§-?.;,s D © $=Dt .<7D>; oS

‘s'
2'.

' Whlch number rnust be added to each of the numbers 5 10 15 and 25 50, that the sums‘
_are ratio metrrc 7 .

R I

AR g g (D)..7 :

. 5,10,15825 ﬂ?WWWRWWﬁWWﬁWﬁWﬁT@W?

45

@ | (B) 3o @ )T

‘A capital of ? 400 becomes T 441 in two. years. w1th compound 1nterest What is ‘the '
- "'yearly rate of compound interest ? -

(A T% “B) 5% - (C). 10% e Oy 1%

4oomﬁwwmﬁ44lﬁmwaﬁewmﬁawmwr |
@ 7%_3_.}_ o®) % <C> 10/ © 1%

SET Q- vt v e s v rmse o s P 4SS P, A A A e

'_;SANM(R)&GNMZOZI(ShrftZ) l._ A R TR R T
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46.
47.

48.

49,

5L

(D) "Neither sentence I nor sentence II is correct R

o | ANM(R)&G‘NM 2021
" ENGLISH GRAMMAR (R T

Choose the word, which has nearly the same meanmg as OBLIGATORY :
(A) Agreeable (B) Requ1red (C) Stubborn (D) Useful ‘

-Choose the word, wh1ch is oppos1te in meamng to FICKLE.
'(A) Tasty ‘ : (B) Quick ) Constant (D) Healthy

Choose the word that can replace both the words in 1tal1cs in the two- grven sentences
I.  The document was declared void.
IL I felt p1ty for the szckly person.

'(A) Useless (B) Defective (C) Tnvalid (D) Weak:

Choose the word wh1ch can most appropriately replace the 1tal1clzed words in the given
sentence ; ST R . ‘
Primitive tales rnamly comprlsed stories of old-time gods and heroes )

(A) ode ' (B) legend (C) epic ' D) allegory

Choose the most effective Word to fill in the blank to make the sentence meamngfully |
complete ' S e - L

Th_ose who have well _ their transition from village'life to city life have prospe‘red.-
(A) managed (B) . taken (©) tied (D) finalised

.~ Observe the two 1tahcrzed words in the following two sentences and give your
~observation by choosing any one option below. '

L A vote of censur was passed against the Chairman
~II.  Every film needs a ‘clearance from the Censor Board

(A) Only sentence-I is correct
(B). Only sentence-II is correct
(C) Both sentences I'and I are correct

ey

52. Choose the most effectwe word to fill in the blank to make the sentence meanmgfully
complete. :
. Ashok had to drop lns plan of gomg to the picnic as he had certain ___ to keep during
that period. _ |
(A) urgencies ~(B)‘ preparatlons ‘ (C) comn'ntrnents (D) an'angernents
-53.  Fill in the blank with the most appropnate word/ group.of words to make ‘the sentence _
© meaningfully complete , e
I shall not join ‘ you need me. _ s B
(A) ifnot - ®) if - (C) whether = (D) unless
XNM(R) & ENM-2021 (Shift-2) ) RN T T T A
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54,
55,

- 56.

57.

© WaaR -'@Lmew

 ANM(R) & GNM-2021 -

: Flll in the blank with the most appropnate word/ group of words to make the sentence '
-meamngfully complete _ R :

His statement is replete _ contréldictions. R

(A) in @B of (O by : '(D_') Wi'thf"

 Find out which part of the sentence has an error.

The blinds / deserve ,our sympathy ; and _dooperathn; SoERINER
(A) @ O R '(D) .

N

- GENERAL KNOWLEDGE (“ITW‘T ?EFl)
‘The Dzscovery of India® was written by ‘ .

(A) - Mahatma Gandhi . o 3(]}3'?) J awaharlal Nehru
(C) Indira Gandhi ' (D) Satyajlt Roy '
“The discovery of Ind1a @ﬁ? %C"’lw :

(A) TR oIt | B) ,wrﬁ w:w

The ‘Char Minar’ isin ol

(A) Ahmedabad -~ " ©.° . (B)y Hyderabad -

. (C) Delhi | (D) Agra -
- mﬁawmenﬂm@m | S |

- e | | (B) i

(©) ﬁﬁs‘i R . .'_(D) o

S8.

59.

When Alexander the great 1nvaded India, the dynasty wh1ch was rulmg over entn'e north
India was ~ :

'(A) Gupta Dynasty IR | o (B) ; M‘au'rya Dynasty

(C) Sakya Dynasty I (D) Nanda Dynasty

| wwwwwquwamwwmmam

fret? LT -
(A) @I SENC . B m?m

© T D) W?m )

: Whmh scientist discovered the rad1oact1ve element rad1um‘?
‘(A)" IsaacNewton " """~ = (B) Albert Elnstem
.~ (C) Benjamin Franklin ... - o (DY Mar1e Cune
- Wﬁ@ﬁrﬁmtﬂﬁﬁ%ﬂmmwzf o

@) wEEwREE 0 ® IGWW_

© el D wRI

ANM(R)&GNM 2021 (smrt-z) I T e T el
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ANM(R)&GNM—2021

The number of bones inan adult human skeleton is
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LOGICAL REASONING (afémfrrﬁwﬁa)

Select the rxght optlon that will replace the question mark and contmue the pattern

@w o ® © o

Whieh of the following figures d.oes' not belong to the series ?

(&) S ® . o O

Flndtheoddoneout ey R e or st e e b
(A) Year 1900 " ®) Yeafr 2020 (O) Y‘ear 2013' . (D) Year 1_967..._-»
Find the right option below Where the two glven Words havé the same relat10nsh1p as,. |

‘TRAIN - RAILS’ . _ : o 3
(A) .Bus — Driver _(B) A.C_af‘— E_ngin_e : ,(C) ,Boat'.‘—-Ri:\‘/er_ (D)'-‘ .=-Ca1-’t '——-H'o.r_sé;' .

Choose the right option Wthh w111 complete the ﬁrst word and begm the second Word .
ST (...)P L E - ‘ ‘ SRR
) C®er o © dke ) wem
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